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Kigss EARE
1| EIzoa=7 | 3 Hh LD 37.750
1| EIZoa=7 [ 3| ¥Yhbh =Ht 37.750
3 EKIZoa=7 | 2 ALY ClEt 37.400
4 Plum G.C 3 LEDD S71=% 36.950
5| ENKIZVA=TF | 2 {SPFE =T 36.500
6 Plum G.C 3 ZED OH 36.250
7| HBEE#H=E |3 W& EH 36.000
8 Plum G.C 3| f=I=<B HBEH 35.800
9] EKIZVa=7 | 2 FHMNFH SF 35.750
10] =LKIZoa=7 | 2 E£50F HLY 35.550
Kigsit EBA
k5
1| EIzoa=7 | 3 Hh LD 9.700
2| EXIZPaz=7 | 3| YUhbh EhH 9.600
3 EKIZoa=7 | 2 ALY ClEt 9.500
4 Plum G.C 3| f=I=<B HBEH 9.400
5 Plum G.C 3 LEDD S71=% 9.300
5 Plum G.C 3 ZED OH 9.300
EENVTITHE
1 Plum G.C 3 ZED OH 9.350
2| EKIZPa=7 | 3 Hh LD 9.250
3 EKIZoa=7 | 2 ALY ClEt 9.200
4] =2KIZPaz=7 | 3| FYhb SHO 9.150
5| ENKIZVA=T | 2 {SFE =F 9.100
6 Plum G.C 3 LEDD 1% 9.050
EE
1| E2RLASDaZ7 | 2 ERFE T 9.600
2| EKIZPa=7 | 3 Hh LD 9.500
2| EXIZPaz=7 | 3| YUhbh EhH 9.500
4 Plum G.C 3 LEDD S71=% 9.400
5| EKIZoa=7 | 2 ALY ClEt 9.300
6] HBEKEH=E | 3 W& EH 9.000
kP H
1| EIZoa=7 [ 3| ¥Yhbh =Ht 9.500
2 EKIZoa=7 | 2 ALY ClEt 9.400
3] EKIZPa=7 | 3 Hh LD 9.300
4 Plum G.C 3 LEDD S71=% 9.200
5| EKIZVaA=7F | 2 FHMNFH IF 9.150
6 Plum G.C 3| f=I=<B HBEH 9.100
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